


m# 2tz [ |zete] gy



B0 Al sH 2.

15, 3
19 " 19




[]

3.2+0.8



2 UEALL.

-
il
ol

)

7]

ol
o
Tp

ol
ol

85 %




cm?



~-6Ccm- <

cm3



aK
ol
=
o
iy
my
R
~
A
I
Ile]
T of
iy =
Y
B_v E._
o T
" B
R
of
R <k
ol
op 5
oo

8.

=

S~Tcm- -

cm?



ol
mmo
ﬂo

)

o
T

1

4Tt

of wat grep U ch



ol
,_nqmo
ﬂo
il

o|J

BH



oju

® AR a=

@ AR cu



B

ON®)



A5 e B0 o 1A A
2~
T

£ 2EHE AP oA

A

%

cg

Y,




14. £%59 A€ 249 eoR 1A Astst: B gu
Qore £2 A2 A0S

e L)L 16—
26171.16—ﬁ7ﬁ—D7116—D




15.

Oa2 HE o2 7k ez 92 Ayt
JIE2AQ,

:
Ml
o,
rlo

D 4:9= 99 4] tst H] @ 7:10=> 7910
® 3:8= 3389 H @ 6:7= 69 7| gt v
® 2:5 = 5°] tist 22] H|

)
filo



16.

Q4 5 chiol g 5 A20] Wl 2R ekl 2L o= A7

@ 12°] Bt 59 H] @ 59 129] H]

® 5:12 @ 122] 5] it v]
5
© =



cm

o ol g F}Al 0.



SHA 2.

A T

—_—

[
ok
olJ

=] o5

X

o)

B
%
.N_o
il
ol
NI

oln

Aol 47k i 1A,

Hr




Ho]7} 204.4 m? Q1 T2 5}F0f 14.6 m?

19.



£0] 40cm?! B QL MA| Zo]7t 628 cm Q1 MEZ} D}t Zo]
AZ=e] E1 lH Ut v 750 ¥ EH HELE B HHF] T2
1A=}

@ 124 @ 10 = ® 8}
@ ¢ 8B} G 4 8+



21.

§7 20 3cm?] 9] Hols B0l 4cmd] 9] Hol o] B Hjelu 7

3 1 4
®ZHH @11HH ®3HH
@1%% @2%%



22,

o] Wol7} 153.86 cm? ¢l ¥

Qe e

94

=]

A5 2 cmPY7rp?



23. WAL 727} 9% em, A7 2 om ARHA} Rriieh. ol A%

Ao Fai7k 12 ent e, ol B m QA oA L,

@ §5C1'I1 @ § cm @ g cm
@ 1 g cm @ g cm



24. 100013k9] 5 Fell A 37} 4.9] BHj] Aot 9.9 vl Ao
Ho] g B4 1AL

@% o 2 ® 2 ® 2 ® 2



25. ¢ ZAE7E6eme] ASHAE DHO] 7S bt
A FebA 2 71 A =S TEAEUTH T A
2 cm?® U7

@ 92cm? @ 96 cm? ® 100 cm?

@ 106 cm3 ® 108 cm?



